H £ 0l & AF & S

20248 =0ila LEHSIH 2B AFR 1t

Al A

FA 2ASIAIR
33 Xz 2SN
el NYele 28 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2|3 AR 1t 2,805,284 2,709,043 96,241
Agels 2SR 899,200 902,39 A3,19
Aoz 29 890,200 898,39 A8,199
Adgs A& 741,266 715,212 26,054
201 fer= 3| 40,975 29,715 11,260
01 At 2|l 28,120 17,220 10,900
SHEER=1] 14,240
—oHBEI =R EHAQIS
100,000 122 x80%<E &> 960
—HeAsESNA(LENSES)
20,0002 *3007H+80%<E &> 4,800
— O AARAAREE Y
100,000 xS » 122 »80%<E 2> 7,680
—C MY 50,0002 x202 x80%<E 24> 800
Oo=2g+¢ 4,000
—IHEEHSH
250,000 x5 & »4 2| x80%<E 2> 4,000
Oul=s| 1,600
—oldgsu=tl 200,000 +8& 1,600
ogxz 5,280
—olggstHAgis
3,300, 000 +22] 80%<E 2> 5,280
Ot 9] 3,000
— S IYNH 3,000,000 14| 3,000
2 s5=4g4l 12,855 12,495 360
OZE2SZMA 4,904
—d3es 40,0002 128 480
—0ISRHE3D] 100,000 *1CH* 122 1,200
—=23| Y HeIHHAAERS
110,000& ~12& 1,320
— ASXHA 700
FSEAE 200,000 «1CH*12] 200
- SESEE 500,000 *1CH*12] 500
—NSIHEES (MY, 58 1,100
- SEAE 500,000 1CH 500
ek 600,000 *1CH 600
—ASittENEEEs
52,0002 *1CH*23] 104
Oxtgr= Al 7,951
—SE4AE 2,704,000 1CH 2,704
-5 5,247,000 1CH 5,247
202 048l 40,237 39,853 384
01 2L A 12,237 11,853 384




FA: SIMR D
B K|gols| 2K
=els XYels 24 (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OANIDIU AR B F A HR =TI
07 40021 52 x32 103  +BU<R 2> 2,338
OBAERARET M|
97,4003 3 3L x22| «80%<E 2> 1,403
O2&EH & HR=A044|
20,0003 x0Z x50 x80%<E &> 8,4%
04 =XI=todb] 28,000 28,000 0
O2 Aol 2l A === XIS+ 01HI
3,500,000 «8H 28,000
203 =8| 3,600 4,500 2900
03 AIFAIH 2= 3,600 4,500 A900
O3 2GAIMAREX
4,000,000 »90%<E 2> 3,600
205 2|3lH| 648,889 633,579 15,310
01 2| E &I 105,600 105,600 0
O & Xtz ==&+
900,000 «8H 122 86,400
2XESHI 200,000 «8H *12& 19,200
02 @8+ 286,721 284,304 2,417
@F=F~Eat= 2,986,670 8~ 123 286,721
03 2R =LHOHI 12,792 12,792 0
OSId=0iH| 106,600 x8H «3 & +52] 12,792
04 2|3 =20l 33,600 33,600 0
O2l@=2/0t| 4,200,000 ~8H 33,600
05 2|d=g38Sdl 45,138 41,400 3,738
O dgs-dsS3H|
4,767,250 ~8H 38,138
Ol Z L SE 2 A2 23|
1,000,000& +7H 7,000
06 232 HRF2al| 59,280 59,280 0
(OXIES;s 2,000,000« 1H 122 24,000
OR9% 840,000 x1H 122 10,080
Odg?AE 630,000 «3H* 122 22,680
SlNENEEEETES
630,000& * 1 *42] 2,520
07 SIAALNLH(SSE, XML F) 4,800 4,800 0
Ol Astn=H(SS AL, AIH L)
300,000 x8ZH +23 4,800
08 QIR AZEILH| (LI 2HIE) 28,200 28,200 0
Ol A2t =H|(RI2HIE)
1,175,0002 «8 & +3=] 28,200
09 2|3 & H2| 40,000 40,000 0
OSl3F o 5,000,000 »8& 40,000
10 JBEAMRE = 10,000 7,000 3,000




FA 2ASIAIR
33 Xz 2SN
el XY2s 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&=AZR2 2 ZE e REE
10,000,000& * 13l 10,000
oY== 2E=s 11,290 8,251 3,039
ORIV
2,986,670 x7E 4 5%+ 123 11,290
12 A=A ARES 11,468 8,352 3,116
OLEHZESRE= 11,468
—SjALEE= 286,721,0002 +3.545% 10,165
oA RUTEE
10,165,0002%12.81% 1,303
301 22N = 7,565 7,565
14 0Bt 2as 7,565 7,565
O2EX=A A 2a
151,300& x 10 +52] 7,565
Q2 HY AR 141,751 176,839 /35,088
201 er23 | 66,170 106,224 A40,054
01 At2teltl 65,952 106,006 A\40,054
Oget+=ZHI 12,192
— >SS
100,000 *25A| 2++80%<E 2> 2,000
—22J|=2S A=l
5,000 » 100 * 12/ «80%<= &> 400
=T VIR
12,5003 x200 #23| +80%< = 2> 4,000
— 2229 KAE B DA
5,0003 1002 *13|x80%<E &> 400
—URFIULUSZHHANZ UM
10,0003 x50 #2232 x80%<E &> 800
—EETEX I
5,000 x 120 +80%<E 2> 480
—HIE(IH) M=
40,0003 602/ «80%<E 2> 1,920
—HNBRRELT
12,9902 x 10 x80U<E &> 104
~HIBRABSADE
8,000 x 102 +80%<E 2> 64
— ST 12,9903 » 100K +B0%<ZE 2> 104
— TR YASERY
450, 0003 x22/ x80%<= &> 720
—2l3/g4ctoldAR X
1,200,000 %13 1,200
OsFEAS W= 31,650
L EEE R R
900,000& 7 H =23 12,600
—SYu= 200,000 *10H 2,000
—Ngu= 150,000« 11 1,650
—SAARUF 14,000,000 *1& 14,000
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FA 2ASIAIR
B K|gols| 2K
el XY2s 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—sdelfus 1,000,000& «1H 1,000
—0I2IPIE DS 200,000 %22 400
o=gsg 16,350
— 2RSS EA LY
100,000 x5 12/ «80%<E &> 400
— NS AE 300,0002x1&*12& 3,600
—QIARIE R A S 6,000
JIE2E
100,000 3 x52 x 102/ «80%<E &> 4,000
CE 50,0002 x5 * 103 xB0%<E &> 2,000
—ddsd 4,750
EPNESPN; 150,000 18 %52 750
AR HEI 200,000 x4 H 53] 4,000
— XN WFLAY 400,000 *43] 1,600
o3l 5,760
—SIO=AE D UB YL ET DAY
8,000 * 112 +50 L «80%<E 2> 3,520
—NEARANERAAET DA
8,000 x7H+502 x80U<E &> 2,240
02 S52g4l 218 218 0
OZ2Z223ZHAl 218
—SJ1d 2,180& %1004 218
202 04t 17,181 14,797 2,384
01 =LHOHI 3,741 3,357 384
OEHAIZ RISl 5l D25t 20| 5| R %X
44l 97,4003 x4 H +32 42| +80U<E 2> 3,741
04 =XIS+0iH] 4,000 2,000 2,000
oL SIERE-EEELIES
2,000,000 x2H 4,000
05 SR W0 9,440 9,440 0
OS2 uF0t| 9,440
—SYu= 300,000 %10 3,000
—Ngus 90,0002 *11 990
—SANRUF 2,750,000&x1H 2,750
—sdelHu=s 2,500,000& «1H 2,500
— QRS T 100,000 x2&H 200
203 2=l 2,700 2,700
03 A= PR FZ| 2,700 2,700
OSEEZAIMF 2L
3,000, 0002 xQ0%<E 24> 2,700
204 Xt AH 11,400 10,800 600
02 SLR3H 11,400 10,800 600
OtHeletsHI (62016t
50,0002 x19E «12& 11,400

_4_




SN ABIAR T
M Xgelg 2IXA
chelr Xgelsl 24 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
303 L&z 300 1,000 AT00
01 Z&a=2 300 1,000 AT00
ORF=SRAEEFANY 300,000& 300
308 AHXIHMSOIH 44,000 44,000
13 BI 12 SOICHEH B A XL EALH] 44,000 44,000
OoslgEs2 550,000 *803] 44,000
Ol ZEAAE 2H 7,183 6,348 835
201 B2 AY| 7,183 6,348 835
2 S=29| 7,183 6,348 835
OAAEF X2 2=H| 7,183
—HE 23| EHIO| XIS X E==H] 5,983
SHO0IXI = XIE==H|
5,983,000& *13] 5,983
—UIE 223 EHOIX2RICISAIES S 1,200
- Z2OI0IBAIEZ 600,000& *13l 600
- I-PINAIE & 600,000& *13 600
QISIAlE 22| 9,000 4,000 5,000
°o|3| A&EHl ®/X 9,000 4,000 5,000
201 B2 AY| 9,000 4,000 5,000
2 S==294| 9,000 4,000 5,000
OAIE &Y= XY 9,000
—SESAIPDILAEEH IS XIS
4,000,000 * 14| 4,000
—=S8AHME 5,000,000 * 14 5,000
Y 2HAHI(2SIAIR21) 1,906,084 1,806,644 99,440
olE2Z| 1,837,769 1,747,363 90,406
ol 2| 1,837,769 1,747,363 90,406
101 2124l 1,837,769 1,747,363 90,406
01 2=+ 1,400,746 1,288,461 112,285
OdESH (4Y) 355,752
—4UsHES(G3UE)
85,054,000& 1 85,054
— 43Sy 32/ EAEHUE)
79,179,000 3% 237,537
— X SIH&H| 322,591,000& *2. 3% 7,420
—&HsS 330,011, 000& *130%+*6% 25,741
Os2(15%) 617,552
—6= 4,332,500 x6H 128 311,940
73 2,867,400 7B+ 128 240,862
—8= 1,924, 2003 2+ 128 46,181
— I 598,983,000& *3. 1% 18,569
(O {GF= 49,082
&2 588,983,000&*1/12 49,082
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FA: SIMR D
M HAPAZH|(AZIAIR2D)
SERRIEESS(T (rel: &gl
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
GES =P 58, 189
— AR DRAY
11,3192 x 15 #3BAI 2Hx 12 1. 02+80%<E 2>
58,189
O3H+< 60,416
—IE=g 14,732
- BH S Xt 40,0003 %0.90+ 18+ 123 7,776
- JIE 20,0002 %1.61x18H 122 6,956
—ARRAZ 2L (2 F+=EHIM)
9,6203 x 12 *100Al 2H+ 122 % 1. 02+80%<E 2>
9,420
—A2RITR A (STE)
11,3193 x 1% 100Al 2H+ 12 % 1. 02+80%<E 2>
11,084
—H2E0H3(149) 16,440
254014 130,000 x8&* 12 12,480
10014152012t
60,0002 +32 122 2,160
- 5E014~ 1010l 2
50,000 x3&* 122 1,800
—UHRIRY=E(4Y) 8,740
6= 4,440,600 +4. 194 E 123 8,740
OS=ge=¢ 17,280
—Jlzd2=+¥ 480
= 30,000 x1&* 122 360
Jtets 10,0003 x 18123 120
— SRS (2AY) 12,600
o= 80,000 »3& * 122 2,880
6= 60,000 6 * 122 4,320
- 72015t 50,0002+~ 12 5,400
—SRAFETE 4,200
55 150,000& x 12+ 123 1,800
- 62015t 100,000& x2&* 123 2,400
ORgs2E+g 50,000 1 * 122 600
OZ A ZAH| 140,000« 19 123 31,920
Og&ESItd| 47,781,500& *60%*22] 57,33
Ogt=2 4| 22,201
—dUSHSH(58)
19,945, 1662 *84%+86%* 12/ 30 5,764
— ey 47,781,500 +86%+12/30 16,437
OguEx=¢ 32,766,000 * 1 32,766
O&AZE2xH|(18F) 41,640
—538 250,000& x3E~12& 9,000
—68 185,000 x6& * 12 13,320
7= 180,000 x7&* 122 15,120
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SN ABIAR D
. HY2HFAH|(2ISAFR D
chel: ol (Sl &9
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—8= 175,000 2+ 12& 4,200
O&IAN3 56,010
—&A02(62)
3,810,000& *110%+6H 25,146
— &N 2(72)
3,239,400 *110%*7H 24,944
— & D41012(82)
2,690,900 *110%*2H 5,920
02 JIEt& &2 385,1% 361,089 24,107
OHS(HHXA2Y) 206,99
-|1=3 46,006, 0002142 184,024
— MM 4| 184,004,00021%3. 1% 5,705
— 501 189,729, 00024+ 1300+ 7% 17,266
OFSH(FHTAZI) 51,303
LR
11,3193 x4 H+35A| 2Hx 123 + 1, 02580%<E 2>
15,517
—IE=g 13,354
- B 40,000&*0.90x4H  12& 1,728
- J|EF 20,0002 *1.61x4H+ 122 1,546
- XTHAHA 30,0003 x4F 123 1,440
- SEMXHA 70,0002 x4Z = 12& 3,360
- AITHOI = AtA 110,000 x4 H =123 5,280
—S3 2R 50,0003 x4« 12& 2,400
—ZUMgAlH| 140,000 4B+ 122 6,720
—AZEAH| 185,000& x4 F 122 8,880
—II2 4&tH| 15,335, 3202 *84%+86%+* 12/30 4,432
OB (A LI HSR22H) 74,832
=J2=2(t3) 46,006,000 *35/40 40,256
—=J|23(0t=2) 30,023,400& *35/40 26,271
— ™I &b 66,527,000 *3. 1% 2,063
—&HS 68,590, 0003 *130%+ 7% 6,242
O=Y (MM AT MBS RA2H) 25,108
— A2t 222EH(02)
11,3193 *1Z#35A| 2H+ 123 + 1, 02+80%<E 28>
3,880
—A2I2I2242(0t2)
9,620 x 1H*35A| 2H+ 123 1, 02+80%<E 2>
3,297
—IE==g 6,773
- B 40,0003 =28 =128 960
- J|EF 20,000&*1.61x2F + 122 773
- AWM XA 30,000+ + 128 720
- SMXHA 70,0003 x2H 123 1,680
- AITHOI = XtA 110,000 2+ 12& 2,640
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SN ABIAR D
M HAPAZH|(AZIAIR2D)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— gl 140,000 <2 *12& 3,360
—AZEXHI(OS)
185,0002x35/40x 1H+ 123 1,943
—AZEXHI(0t3)
175,000 x35/40x 1H»12& 1,838
—saxoay
3,978,000 84%x5%* 12 2,005
—oHB Al
3,480, 080 *84%+*86%+*12/30+2H 2,012
O=2x(42+519) 26,958
—JlEs 1,770,800 x1E~12& 21,250
— X< IH&HI 21,250,000& +3. 1% 659
—ZHIAHI 140,0002« 1+ 122 1,680
—ZE=JH 1,825, 7202 x1H+60%*22] 2,191
—Al2t=EHA =2
9,620 * 12 *10AI 2t 123 %1.02 1,178
03 SR (RINAHA) 222+ 49,753 96,273 A\46,520
osaoplzelfd(dlsaR/19) 49,753
—Jl2= 2,256,600« 1H* 123 27,081
—a0= 2,256,690 * 1 +200% 4,514
—AZtelaRsy
16,6802 x 1 *180AI12+*1.5 4,504
—dxReRIt=E
16,6802 xBAI2H* 120 2,669
—Af=d 60,0008 x1&* 122 720
—=22=4 229,650« 1H 122 2,75
—IEse 1,440
JIEt 20,0002 %3~ 122 720
- SMAHE 60,0002 x1& 122 720
—=gtl 140,000& x 12+ 123 1,680
—uwSH| 140,000& x 1= 123 1,680
—SEFOHI 2,256,690 x 1 +60%*22] 2,709
MU IIRINZZENSES 2,074 1,540 534
OFIULL(GUEEREES)
86,4002 * 12 +x30 L «80%<E 2> 2,074
Jl=23sl 68,315 59,281 9,034
JI23Hl 68,315 59,281 9,034
201 et 3| 40,998 42,054 1,056
01 At22t2l] 40,998 42,054 1,05
Oget=ZH] 25,812
—APRI1D124
200, 0002 +4CH+80%<E 24> 640
—ZelHEHTY
220,000 +7CH*7 2] x80%<E 2> 8,624




SN ABIAR D
M HE2HHHI(2ASIAIR D)
&l D122 (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
—SAEXFY
25,300 x84} K123 «80%<E 2> 1,944
—E N7
20,0002 #43H +21 B +80%<E 2> 1,344
—2R=EZ 20,0003 +222« 123 5,280
—RN2E+=EHI
10,640,000 *75%<& 2> 7,980
ogxz 10,650
—SAIILXZ 105,000 »3CH* 12 3,780
—HWRIEI|YRZ
51,9003 5CH* 123 3,114
—3JI3301xz
28,4502 110+ 123 3,756
O=gl 4,536
—SNSILEFISA|
8,000& x21ZH 30 90<E 2> 4,536
202 Ot 2,557 2,467 0
01 =LHOILI 2,557 2,467 0
FAN2EHRFEOL
20,0002 *21 B +52 +80%<E 2> 1,680
OF2H(RINAY) 22N B +HARFA
04dl 97,4002 *1H 32 *33] 877
203 LR =&IH| 9,160 7,160 2,000
01 D22 RS 2,000 0 2,000
OJ|22IHRFA| 2,000,000& 2,000
02 ZRAINASZEY| 1,760 1,760 0
OFAINIARFEH 80,0003 x22H 1,760
M FA2LHRFAHI 5,400 5,400 0
ORAM2IHRFAHI 5,400
— o3| At 1t 250,000& =123 3,000
—HESANHEZAJ A
100,000& *12& 1,200
—ZHEAIHER R A
100,000 =122 1,200
204 MR AY| 3,600 3,600
01 MG AH| 3,600 3,600
O2I3IAIR I E - M22A(53)
100,000& 3% » 12 3,600
405 KHaHE S| 12,000 4,000 8,000
01 XL = SF S| 12,000 4,000 8,000
CEEEUMUNAEERL(SER)
12,000,000 12,000




